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3-5 ' Study Guide and Intervention

Proving Lines Parallel

Identlfy Parallel Lines If two lines in a plane are cut by a transversal and certain
conditions are met, then the lines must be parallel.

If then

 corresponding angles are congruent, the lines are parallel.
« alternate exterior angles are congruent,

= consecutive interior angles are supplementary,
L]

L]

alternate interior angles are congruent, or
two lines are perpendicular to the same line,

“Example 1.

» Ifm/sl =m/2, “-'"iﬁﬁi]‘e'"_j' Find x and mZABC
determine which lines, if any, are so that m|| 7.
para]lel

\\

\ \ We can conclude that m || 72if alternate
Since m£1 =m/2,then £1 = /2. /1 and interior angles are congruent.
2.2 are congruent corresponding angles, so B = e

rlls. 3x + 10 = 6x — 20
10 = 3x — 20
30 = 3x
10 =«

mZ/ABC = 6x — 20
= 6(10) — 20 or 40

“Exercises

Copyright © Glencoe/McGraw-Hill, a division of The McGraw-Hill Companies, Inc.

Find x so that € || m. .
1. \ 2. m 3. ¢ m
(5x=5)° ¢ e (4x + 20)° ‘ ’_]
£ (3x + 15)°
Ux+30:6¥% X+5:=-Q0
QA0 -y :
(o=x)

5. ¢ 6. e
20 m oM
(3x — 20)° o
o]
vl
7y
Gx+) = Bxi8 x 2 3x -96 3

R s Sx+0 =70
E= . . 55X 180

X+ 28

Geometry

Chapter 3
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Proving Lines Parallel

— ) —

Given the following information, determine @_ﬁes, a 5

if any, are parallel. State the postulate or theorem that ; /_‘,_ 3 /1

justifies your answer. ‘ T a5 ¢

£3=/T  2.29=/11 : / /
-&wonncs are PQFGHC\ £ +he 200 e paratie) ie <90 12 L,
AErna e interict an\es are lintS Q 1:5/15 1713 ‘
: nolt
congrueny. g COrrcapondm Qa ? es \

{f 4he QLY ernOYe irHerion ;
ang\es are congrueht supplementary -4 € \ines
Find x so that £ || m. L are paraiel.
\

o
3.,/2=,16 @45 o leZ = 180
fuwo in€sS are paraliél R nsecutNe |n+er\0\' (s cure.
é‘ +h

5. ¢ _ 14 7. k
= < / > {
(6x + 4)

DiGnao 8o TN F Cafiens g

+120 180 g Gl T - -
s i %xﬂo Y x-10 |z ox-8
8. PROOF Provide a reason for each statemeng in the proof of Theorem 3.7. ! g - 37‘ :
Given: /1 and 22 are complementary. BRS &
BC 1LCD B
Prove: BA || CD
- —

Proof: , A D
Statements ' Reasons
1.BC LCD lLder o¥ perpingdicular 1WNeEs
2.m/ABC =msl + m/2 2. de¥ of campiementary ongLEs
3. 21 and £2 are complementary. 3.de¥ of comD\Ementary
4.ms1+ms2 =90 4.0nQlE adai+ion
5. m/ABC = 90 5. SUbstH iUy (on
6.%LB;C : 6.de¥ o¥ perpinAiCular 1Wnes
7.BA| CD 7. der oF pavallel \ines

Determine whether each pair of lines is parallel. Explain why or why not.

Copyright © Glancoe/McGraw-Hill, a division of The McGraw-Hill Companies, Inc.

9. T4 : 10. YT 1 ] Y23-Y)
A3/ U4,2) -7 X9-¥)
I~
/i EEES= oo _ 2,
F(2.1) & [T(-4,0)0 X 4T 8-eqg
(o] X
S5(5,-3) )
B2,-3 Ao = T | | By - 23-¢d)
E(0,-3 J—— KDY -0
] 27y
hot partie) s

b ecause théy have
" Chapter 3 37 QGdiererent sIQElencoe Geometry
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_ Study Guide and Intervention

Equations of Lines

Write Equations of Lines You can write an equation of a line if you are given any of
the following:

e the slope and the y-intercept,

* the slope and the coordinates of a point on the line, or

e the coordinates of two points on the line.

If m is the slope of a line, b is its y-intercept, and (x;, y;) is a point on the line, then:
* the slope-intercept form of the equation isy = mx + b,
~ * the point-slope form of the equation isy — y; = m(x — x,).

C2ELEE Write an equation in GITLIEY Write an equation in
slope-intercept form of the line with point-slope form of the line with slope
slope —2 and y-intercept 4. _ —% that contains (8, 1).

y=mx +b Slope-intercept form y =y, = mlx — x)) Point-slope form

y=—-2x+4 m=-2b=4

A e D o o
The slope-intercept form of the equation of y=1 1*~8 m= -7 . ) =61

the lineisy = —2x + 4. The point-slope form of the equation of the
lineisy — 1= —Z(x - 8).

“EXercises”.

Write an equation in sJope-intercept form of the line having the given slope and

y-intercept. X g

1. m: 2, y-intercept: —3 /@‘m: CE’ ;iTtercept: 6 /
+ \ - +
PR SEE B—L“-‘é(x-m&

3. m: %, y-intercept: 5 4. m: 0, y-intercept: —2
\
y-5 = 5 (x-6) yta: 0(x -0)
5. m: —%, y-intercept:% ' 6,6/77; —3, y-intercept: —8
1 .~8 (4. - <B(lx=
Y-3 =73 (%-6) y+8 : -3(x-6)

Write an equation in point-slope form of the line having the given slope that
contains the given point. %

Tom=7,3,-1 8.m = —2, (4, —2)
g+l = B (x-3) g+a = -a(x -u)

9.m = -1, (-1, 3) @n = 4.(-3,-2)
y-3 zvm -1 (k) TEER NECEY

1L.m = -2, (0, -3) 12, m = 0, (=2, 5)

3+3:‘§_(x-03 Y-85 0 (x+3)

Chapter 3 28 Glencoe Geometry
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Equations of Lines

1. GROWTH At the same time each
month over a one year period, John
recorded the height of a tree he had
planted. He then calculated the average
growth rate of the tree. The height & in
inches of the tree during this period
was given by the formula A = 1.7t + 28,
where ¢ is the number of months. What
are the slope and y-intercept of this line
and what do they signify?

hz)\.74328

S\OPE 1.7, rar€OF grouwth per

onthn
Yy N epr- 28, the hc\gmﬂ\e
+ref nas 3YoRea at.

2. DRIVING Ellen is driving to a friend’s
house. The graph shows the distance
(in miles) that Ellen was from home ¢
minutes after she left her house.

dm
// q -l
5 L] 5|
50 +3
P 5
[{THA t
0 5

Write an equation that relates m and ¢.

= -4
g-mwb g X
Mt = ++b 2
3 s b
bz 3(Hb m_;_ L8
s--b 5

. COST Carla has a business that tests
the air quality in artist’s studios. She
had to purchase $750 worth of testing
equipment to start her business. She
charges $50 to perform the test. Let n be
the number of jobs she gets and let P be
her net profit. Write an equation that
relates P and n. How many jobs does she
need to make $750? 756 - S¥Ary

80 7/ ¥CSY
P-75z 50N She needs |15
75%‘-_50h jop® +O M CICE
Chapte-r'g1 Ef?é(’.)

'3-4  Word Problem Practice

32

it

4. PAINT TESTING A paint company
decided to test the durability of its white
paint. They painted a square all white
with their paint and measured the
reflectivity of the square each year.
Seven years after being painted, the
reflectivity was 85%. Ten years after

“being painted, the reflectivity dropped
to 82.9%. Assuming that the reflectivity
decreases steadily with time, write an
equation that gives the reflectivity R (as
a percentage) as a function of time £ in
years. What is the reflectivity of a fresh
coat of their white paint? §5‘8__§__-1 "

+=0.7r1b P i
R e el i

0 20:70% 84!
85+ "u q+b -8RIt ~0.7r

8.\ 1379
ARTISTRY For Exercises 5-7, use the
following information.

Gail is an oil painter. She paints on
canvases made from Belgian linen. Before
she paints on the linen, she has to prime
the surface so that it does not absorb the oil
from the paint she uses. She can buy linen
that has already been primed for $21 per
yard, or she can buy unprimed linen for $15
per yard, but then she would also have to
buy a jar of primer for $30.

5. Let P be the cost of Y yards of primed
Belgian linen. Write an equation that
relates P and Y.

-3y

6. Let U be the cost of buying Y yards of
unprimed linen and a jar of primer.
Write an equation that relates U and Y.

:159-\-30

7. For how many yards would it be less
expensive for Gail to buy the primed

linen?
1Sy = Q‘S

Glencoe Geometry
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[0

06 now
page 167 example Y

Writ€  an  equation jn SIOpE: intercept form  or a4 .Line
condQining (2,0) +hOod 1S perpindiCular 40 +he \in€ with
EQUAH 0N yz ~xtS5.
e SinCE  +he sIePE GF th€ \ine \d:-—x-isé 'S -1, +he sIlop€ or q
Win€ perpindicular A6 i+ 1S )

31-9‘:m(x-xn paint - slope  frm

y-0 = 1 (x-2)

Y =%x-2 AiSyOUY [y <€
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3-2 | Study Guide and Intervention

Angles and Parallel Lines

Parallel Lines and Angle Pairs When two parallel lines are cut by a transversal,
the following pairs of angles are congruent.

* corresponding angles
® alternate interior angles
* alternate exterior angles

Also, consecutive interior angles are supplementary.

? In the figure, m£2 = 75. Find the measures
of the remaining angles.

ms1l =105 £1 and £2 form a linear pair.

ms3 =105 +3 and 2 form a linear pair.

ms4 =75 /4 and /2 are vertical angles.

ms5 =105 /5 and 23 are alternate interior angles.

m/6 ="T5 _ £6and ~2 are corresponding angles.

S o~
ms7 =105 ~7 and 23 are corresponding angles. AL
ms8 =175 48 and £6 are vertical angles. -

| 2
v
L — 9
,.-ercses i :
In the figure, m/3 = 102. Find the measure of each angle.

B 1. 25 2. /6 |

£ 84+L5 180 (52102 B+l z | =

g T8ILS 2 180 102 ¥ L6= 18300 £6 =78

= 3. 211 447 _

5 " ol 40| LT 2180 ‘.

5 . 7=

: o3z L) VT = (0 SES

£ 5.215 6. L14 '

= L15 = LI auy Lis< 180

£ L1 B 10 LUY 0 2\BO

.;'E ' _ LA 78

I i

: In the figure, m£9 = 80 and m£5 = 68. Find the measure ,

2 of each angle.

: 2 83

g 7. £12 8. 21 S

s 3 2100 goz L

5 @f/ L2180 G

L +LP = Yy 2180
LU$80 =180 tz+icozige L2280
11, 2 2100 12. 216
(7~ L5 . (7+¢16 2180 Ll6zn2
(-G8 6R+L16 =130

Chapter 3 13 Glencoe Geometry
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Study Guide and Intervention (coninueq)

Angles and Parallel Lines

Algebra and Angle Measures Algebra can be used to _
find unknown values in angles formed by a transversal and parallel lines.

32

4 ¥ Ifm/1=3x+15,m/2 = 4x — 5, m~L3 = 5y,
and mL4 Gz + 3, find x and y.

pllg,somsl =ms2

because they are
corresponding angles.

rlls,soms2=ms3

because they are
corresponding angles.

3x+ 15 =4x — 5 ms2 =mdsL3
16 = —5 75 _ By
5 5
+ 5 =x—
1b+b=x—=85+1H 15 =1y

20 =x

Fmd x and ¥ in each figure.

PERIOD

Uxt10~ 5%-5 "0 +10+6y -4 180
1. ‘ L"X*‘S Sx ‘D*’G‘d—q -160 2. gp° (15x + 30)° ISX+SO+IOK - l8()
z 68 =184 xR - 6o
(By— 4)0 or 4 "‘ £ (3y+ 18)“ > x : 6
{4x+10)° 30 G°+39+I8: (B0
> 3ytf¥= Qo
4 BH =18
K >l ¥
(‘[1x+ 4)° @ (5y+ 5)° 4 >
- 5x~20: 3y
L i3y 5 ~20 I ~gy
/ 4y (x—20° 10 =y
IeHd 45x < 180 53+5*f39-5 80 L
v 56%"‘173\ / ‘33 - 180 QU'\’L{8+3’U-180
- “ . :\O ' 68 E 150
. d Y as
@x, ¥, and z in each figure.
6.
A e
4Z+6)° L‘ : \/f
= e 2O .
105" N G =
*71.\.\.{42_\,6_.180 \gya > AAX A0 =186 15_:?
H2462106 SR ZAS . o
Uz=too M8280 \pgray:igo VIR ITRO ?"_[820
- 2tas Xty g = M He
Ch\pteaa e \'\') 37 _ ) 14 Glencoe Geometry
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@ Write an equation in point-slope form of the 11ne with slope —731—

that contains (3, 8).

2. Write an equation in slope-intercept form of the line with
slope % and y-intercept of —2.

Write an equation in slope-intercept form of the line that
contains (-1, 7) and (3, —9).

4. A bottled water company charges $8 per month for a water
cooler and $5 per bottle b of water. Write an equation that
represents the total cost C for monthly water service.

Given the following information,
determine which lines, if any, are
parallel. State the postulate or theorem

that justifies your answer.
5. /1= /6

@Léi:—:LQ

@Given(_q | Aand m28 = 64, find m~5.
Ime2 =6x — 17 and m27 = 3x + 35, find x so thatg“ﬁ.

Chapter 3 Quiz 3

(Lessons 3-4 and 3-5)

6. /2 = 43
m/_7 +m/6 = 180

(Lesson 3-6)

@ Draw the segment that represents the distance from B to DC.

2. Construct a line perpendicular to £ through H(—1, 3). Then
find the distance from H to £.

Find the distance between each pair of parallel lines.

®y=—8
y=4
d-19

5. What is the distance from the point A(—1, 5) to the line with

equation 4x — 5y = 12?

Chapter 3

y = —x —9
y=-x-—17

SCORE /' }

m

1.y-8z-%(x -3)

s
2._ Q23X -
v

8 Lym =My &8

5.

6.
e Que’inﬂhhg exteriar L
Qrfe ‘Zithen yhe wnes
7.
inf h\
WP consecutive inv€vrior Z g
8 =180. then +he hnesomc_ll

.

e e e

9. MLs5=-\\€
10._X =38
PERIOD
SCORE
1 A B
D C | %
2‘
Y
H
I
o] X|
8, gl 7
4. d-AS /1
5.

Glencoe Geometry
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(R y: -x-a

YT -x-7
A g:X-q
X-Qz-x-1 Y *%-Q
N-Q -7 9;\-Q
v =4 y: -8
- Xz point of iniersect
(-1,-A) Q-8

d= Alo-xn (ys-y1d 2
d = NG-eN%3(-8-9?3
d:z /\faa“' 3
d-Aun

d : N5

9 -9x-3
3:—9(1)-3\
Y -4
= ~
.’1 a
G (V) Co- o)

d= A xa-xy 2 +Cya-g»”

d:/\)(
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Pages 163-169

Integration: Non-Euclidean Geometry
Spherical Geometry

Spherical geometry is one type of non-Euclidean geometry.
A line is defined as a great circle of a sphere that divides the
sphere into two equal half-spheres. A plane is the sphere itself.

Plane Euclidean Geometry Spherical Geometry
Lines on the Plane Great Circles (Lines) on the Sphere

1. Aline segment is the shortest 1. An arc of a great circle is the shortest path
path between two points. between two points.

2. There is a unique straight line 2. There is a unique great circle passing
passing through any two points. through any pair of nonpolar points.

3. A straight line is infinite. 3. A great circle is finite and returns to its

original starting point.

4. If three points are collinear, 4. If three points are collinear, any one of the

exactly one is between the other two. three points is between the other two.

, ' Ais between B and C. e
— == - Bis between A and C. B
A . 8 ; Cis between A and B. A

Bis between A and C.

' Longitude West

Latitude and longitude, measured in ° '

degrees, are used to locate places on a ool b Ll [ L -

ey world map. Latitude provides the locations

north or south of the equator. Longitude = g e i, 455N

prowdes the locations east or west of the s Ell o ,‘;‘5}1‘ SR AW Boston

prime mendlan (0°). = 40°N

Example: Find a city located near the point 35°N
with coordinates 29°N and 95°W. o
The city near these coordinates is 7 % 250N
Houston, Texas. Hiiami

Decide which statements from Euclidean geometry are true in
spherical geometry If false, explain your reasoning.

1. Given a point @ and a line 1, where @ is not on 7, exactly one
line perpendicular to r passing through @ can be drawn.
. ba\s_fﬁm\ n “s‘pheé‘écm geOMEATY thellC are 9 Derpmducu\or‘ pornAS
(VS ]
2. Two lines equidistant from each other are para.llel
) polse, ho _tines are: rJOrqng\ ‘N Yhe
- SPhEriCal  Qeomewry. )

Use a globe or world-map to name the latitide and longitude of each city.

3. avana, Cuba 4. Beira, Mozambique 5. -Kabul, Afghanistan

Q3N B 'W 20°S, 35°F 39°N ., &Q°E

p— Use a globe or world map to name the city located near each set of coordinates.
9°N 73°W N\z/ C, 7. 59°N, 18°E 8. 42°S, 146°E

N\and SOOI ¢ "{QS\'“OT\iQ y ‘
\and — Sweeder\ N
© G[encc%hv\qmﬂ e — ToTTm A\’A‘E’kah'%edmetry



kellve S*Qh\hu{—h
Bmd&i Rachen

/ 0 Perioap

ramp  ac+ivity

aft
/:] 3rise(93 e %-%t' %

0 rul fuy M

1874 F/&

=

-
-
-~

oy
A

JT™ refte,



e & Didhoi
W]
i

b
=
_— —_ k’

- o~
T b
\\/ﬁ:l.\;_f

- — —_— —F-;L—'C:*/—m--——
I SR - a2




Brady roedn

5{'\"
4/ ec

sécrion 2.2 (4-12,19-a),93,858) E.C aq

sz
89+a + A5y -0:180

33y.-18 z180
L 8Ce : - B3y oléR
S 9 50 Y=
52 i 891-2&-959 =G = AR/
180z \OxX+S06 By + &= REO
1202 1I0% TER L0 T ¥ ay'fgsgz 1 Q8

Tl he ey = €

6. YWABuatansN80 UY-5z3x41l
& L zrnara-\ PR eSS 2 1] M N o
o oAy, Y zie)  Yaed-sY e
syﬂ-rsq- \30 A BANE RN JE VRIS
P SR B s 136, 0% « Tu PLEFILS B \ao

L2t 43 =180
" Mmiaziz8)
'8. miarm L7=V80. . .e - F N

S L7 3V3 82\ oo Qe LT+ mLIG 2180
mL7 W crire w CHQudaon L1042 80

mLio = \38;

N

mMmINFRB =180 ., = Ve mlll = mmiLl3

i) = qé) 1o ‘F-la = mL13)

i

- 1. MLz mLIS

‘\'33;‘ mL_\G) , |
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19. 3y -l +56z.180. - . . 180 :S6.:\av
3y-\ <1y 4y =12y
1 By=i3s 2,
90/3*-368 87+68 +y2= 180 .+ 58 i
— \k=au) egr y= 93 T3
yg?=as
CER
@ given - Lim
“prove- L1T L8
A" LaTeLy
o Staiements’ \ Feasons. £

Cle LiM, y ,%/ 9iv¢n
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. Slopes of Lines
Get Ready for the Lesson

Read the introduction to Lesson 3-3 in your textbook.

* If you are driving uphill on a road with a 4% grade, how many feet will the road
rise for every 1000 horizontal feet traveled?

* If you are driving downhill on a road with a 7% grade, how many meters will the
road fall for every 500 meters traveled?

Read the Lesson

1. Which expressions can be used to represent the slope of the line containing points (21, 59
and (x,, ¥5)? Assume that no denominator is zero.

Ay horizontal run D Yo~ Y1 change in x
A Ax B vertical rise & Xy — X D. change in y
Yo — Y1 Y1~ Y ’ g %y Yo~ %
E. F —— G —— H —=
Ry, g 1 T X g~ ¥ Y17 %

2. Match the description of a line from the first column with the description of its slope
from the second column.

Type of Line Slope

a. a horizontal line '|_l. 1. a negative number
p— b. a line that rises from left to right \V  ii. 0

c. avertical line |1 i iii. undefined

d. a line that falls from left to right | iv. a positive number

3. Find the slope of each line.

3

q

b. a line perpendicular to the x-axis undesined

a. a line parallel to a line with slope %

mn
m
c
o
n
N
Q
=

c. a line perpendicular to a line with slope 5 -..‘.5
d. a line parallel to the x-axis O
e. y-axis undeftnved

Remember What You Learned .

4. A good way to remember something is to explain it to someone else. Suppose your friend
thinks that perpendicular lines (if neither line is vertical) have slopes that are
reciprocals of each other. How could you explain to your friend that this is incorrect and
give her a good way to remember the correct relationship?

P Yo are 0 pOSHive PErON  ONd Wour world (S ipped
arﬁu’ﬂd c 8N Yo R come he@ObH‘\/f,

Copyright © Glencoe/McGraw-Hill, a division of The McGraw-Hill Companies, Inc.
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3-3 Study Guide and Intervention
Slopes of Lines

Slope of a Line The slope m of a line containing two points with coordinates (xy, y;)

and (x,, y,) is given by the formula m =

Y= Yy

, where x; # x,.

S |
':-dvﬁiamijlg-l Y Find the slope of each line. Y| A
For line p, let (x4, y;) be (1, 2) and (x,, y,) be (=2, —2). 2 e )Il
Yo ¥y ":"-...; (1,2)
m = P V/&\L" X
e Sl S, EX AN
-2-1 3
/'
For line g, let (x;, y;) be (2, 0) and (x,, y,) be (-3, 2). ¥
_ Yo~ N
e S T |
_2-0 2
-3-2775
" Exercises
Determine the slope of the line that contains the given points.
1. J(0, 0), K(—2, 8) 2. R(-2, —3), 8(3, —5)
geB . 8 -s-(-3y .@
e L e o -u — —
<=0 -2 - 3-(C-2) 5
3. L(1, —2), N(—6, 3) 4. P(—1, 2), Q(-9, 6)
2-¢n . 5 -2 - 4 . _5
T Q=Y ~8
5. T(1, —2), U6, —2) 6. V(—2,10), W(—4, -3)
-3-¢ 6 -3-10_ -13
cn s “4-(2) -3 =¥
Find the slope of each line. I VT T TA
—— - B(0, 4
7.AB e 8.CD - )
ot T1 S Rty -2-2 -4 /
-3-6 ~ -3 ° 0-(-2) * "_QT':_Q C(-2,2) M4, 2)
X|
LEM 10. AE o, oI\ L
s-tte) . . a-an < ay .
-y - underined % - ) / L~ |F(4,-2)
11.EH 12. BM P TN Y
~a-(-u) :
w 2 Qo? 4o 2 o
Q-(-l S 0-Y Q= D
Chapter 3 20 Glencoe Geometry
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DATE

Slopes of Lines

J'M! Stﬂdy Guide and Intervention (continued)

Parallel and Perpendicular Lines If you examine the slopes of pairs of parallel lines
and the slopes of pairs of perpendicular lines, where neither line in each pair is vertical, you

will discover the following properties.

Two lines have the same slope if and only if they are parallel.
Two lines are perpendicular if and only if the product of their slopes is —1.

< wawey Find the slope of a line

parallel to the line containing A(—3, 4)
and B(2, 5).
Find the slope of AB. Use (-3, 4) for (x4, y,)
and use (2, 5) for (x,, y,).

Yo ™

L A

S ST,
- (=3)

The slope of any line parallel to AB must
be =

m=

~ EXEICises

IR

TExample2’

Find the slope of a line

perpendicular to m for P(—2, —4) and
Q(4, 3).
Find the slope of PQ. Use (-2, —4) for
(x4, y;) and use (4, 3) for (x,, ¥5).

_Y2™N

2

3 — (—4) i 1
—(=2)

6

Since % . (—7) = —1, the slope of any line

perpendicular to P_Q. must be —%

Determine whether MN and RS are parallel, perpendicular, or neither.

1. M(0, 3), N(2, 4), R(2, 1), S(8, 4)

2. M(-1, 3), N(O 5), R(2, 1), S(6, —1)
5-3

L & -1=1 -2
AT %%‘i t-l_:_l__”__?v,% ok GO
MN © “porraner 870 € 7 Peperdica\ar
3. M(—1, 3), N4, 4), R(3, 1), S(—2, 2) 4. M(0, —3), N(-2, —-7), R(2, 1), S(0, —3) .
4-3 -1 —7-(-3) -3-1
4-cn "3—'-; | nic*)r\ex -2-0 =2 6-2 :
_Sl_ ‘ & Qe \
5. M(-2, 2), N(1, —3), R(-2, 1), S(3, 4) 6. M(0, 0), N(2, 4), R(2, 1), S(8, 4)
3-2 5 L4-6 -\, . 3
TG 303) e o7 & 63
- o - .
Find the slope of MN and the slope of any line perpendicular to MN.
7. M(2, —4), N(-2, -1) 8. M(1, 3), N(-1, 5)
~1-¢-4) 3 5-3 .9
S5 S-u == T
-2 -2 . u ~1-1
pc—rPtnd‘Cu.\Qf % "‘3 PﬂfD'- \
9. M(4, —2), N(5, 3) 10. M(2, —3), N(—4, 1)
3-(-2) _ (~(-8) 1 9
5.0 —arrye ) -y =6 . B
perpi-L -
5 pep %
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' 3_-) _ Skills Practice

15. contains Y(3, 0), parallel to DJ
with D(—38, 1) and J(3, 3)

y
BVEB3)

A =%

Wi

= Slopes of Lines ~)
Determine the slope of the line that contains the given points. /
1. S(-1, 2), W(0, 4) 2. G(_’—Zs, 5), H(1, 57)
L":J--\'\ ~ -0 : K3
3. C(0, 1), D(3, 3) 4. J(-5, —2), K(5, —4)
Ber, 3 8 - N = . |
3-o0 3 ey b w - 5
Find the slope of each line. B-¢ v
5. NP 6.TW s
5-v & 3 3-M . -3 PATTS))
L--u) 8 4 -0
7. a line parallel to TW 8. a line perpendicular to NP P I -
NI | TR
s < - =P e e o AT
Determine whether AB and MN are parallel, perpendicular, or neither.
9. A(0, 3), B(5, =7), M(—6, 7), N(—2, —1) 10. A(—1, 4), B(2, —5), M(—3, 2), N(3, 0)
____'___3_. e -a "_‘_-_7__ s .a —5-—‘-1 e o-2 “ - - 1 \‘C_Nr
§-0 -2-(-6) "~ paratiel oy -3 - "6 - T3 n
11. A(-2, —7), B(4, 2), M(—2, 0), N(2, 6) 12. A(—4, —-8), B(4, —6), M(-3, 5), N(—1, —3)
ari=1) 6-0 : - - — ‘
5 Far R 6-C8) ., 3= .9
Y-y 5 CuI L-¢-u) g * W e - =
poranel | 2 o
Graph the line that satisfies each condition. neHeY - -a 3
. 13. slope = 3, contains A(0, 1) 14. slope = —_%, contains R(—4, 5) g
y 7 %
7 (R_‘ AN %’
AtOry 2
/|o X \ &
(2] X S
/ } :
= Q g
2
I
)
E

L2
3 \‘f

ot 1=

'y

Chapter 3

16. contains 7'(0, —2), perpendicular to CX
with C(0, 3) and X(2, —1) 4

—

YT ] i
-2
0
(o] X
X2, -1\
100,12
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a5:() and (1) : o1¥ernGing
exrerior a
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inYerior
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' |
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/ E e 9': 600 ‘___
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3.6 homework
Sexyion 3.6 #1,8,5,6,10713, Rage 194 ¥2a

and Find X pig Yz axy dm a e Cxa—x.)a “"(i;ia‘ut)g
y-axzdAS d =A(0-012+(8-C-3)°
d=nN 573

r 2583242 (1) =] _ Xau
MmQAke | = [l /Q..Sx:S €0:3), d= (9-0)': ¥ (1-
(0:2) o

(N FOr pPOIN+




A4 #98

;

!

g 1P gou extent these Lines
// ond  measure coresponding (s

_ond +hey are Lound 10 be +he

{

3GMme mMmeasue, then +hat proves

1 , }E +ha+ +Hhe Lnes are pavaliel.
AU W Tlgx—3 v
9 9 -‘_ x ,‘-ﬂ
Y- -3443
~2%+32 3% 3 _ | g
~3¥4F Zx-3 (6.-1)
~ B :'éX“S
-2-M,:15 D'ers) &
=
g —3XHA
| Y& r30.8) ¥97%.
SPR” 74 @:5:3
{Es, s} (65 Y |
a-= /d?xa =% )2 au_\ja \513 _
d = N{o=1-5)°x (2-2.5)7 Y,
3 = NC3.95 % 30.85
d -
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3.5 homeworie
.Sedion 3.5 38,2Q

8. This  ensures 4ot +he pickers woill be
PAraiie because the angles will be congruend,

crearing adernatt  inyerior angle€S- This makeEs

e pickers paraliel.
Q9. Thys g,;oromees 1. \ineS {0 ke Dallel

becayse wWa lirg is pepindicnar 16 many
Wnes, fhose 1inés willl all be parallel @& 1o

_BOCNCHhEr and perpindicular 4o 4he single Iine.



W H Ly
o A \“’,\J\'};“rl

Lo oo g™
el el eal

- \/"“"‘-\-‘.: i
S T PR W S

e . e BSOSO 3 —_:;‘r J<f..'~U ..L.', ...... Py oo

: ‘ Y Dyenng &
e e SEER S B -......‘t:—}.wij -._j~ *-,ka_.—i,‘... !.-j."__*._m,, JE O

Z'“\_w.'y

Y Tt O TH e e S ey
............. T o O R A S N ) : Pk

o i e ST
AT ML

. by




Bracly rechon

| 3.4 homEworie
Section 8.y ¥ 7-14, 90,35, BOi33.

T.une £ (0,58) (-1.3) b:xs

M~ N ¢ g Pod -

me Y2-yt m:z 35
Xo-x1 ~1-0 -
S Ysmxib L <
yctox+s)
8 e (<1,5)¢0,9) bz
mzya-yl M a-3 mz =l ma.-!
X8\ O-(-1 ]
"k ~x+a | o
9. miine £ 3 y= mx+b Cfyz axee~u ]
&l hnel = %3 9:au)+b o
H-8+b
-4z b
10 m liné £L:2 ‘ y=-mx+b Fg:ﬁ"é@
Limedz 3 -~1:2-3F)b
-1 = -1+b
O:-b

e Jo 0.779S+5
M= 4H40+10
12 J=206.7905) S

he shoutd Change +0 Yhe
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